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1 233 −+−= xxy � 2 24 xxy +−= �

3 xxxy 39 23 +−= � 4 234 103 xxxy −−= �

5 x6xy 3 −= � 6 24 8xxy −= �

7 3260212 23 −+−= xxxy � 8 xxxxy 24228 234 −+−= �

9 3 22y x x x= − +  10 4 22 4 3y x x= − +  

11 233 +−= xxy  12 1222 ++−= xxy  

13 3xy −=  14 233 +−= xxy  

15 3613 24 +−= xxy  16 xxxxy 24228 234 −+−=  

17 24 8xxy +−=  18 xxy 63 +−=  

19 13 23 ++−= xxxy  20 4xy =  
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101º–   y xe x= −
  111º–   xxy ln=  

102º–   y x e x= −2 2

.                            112º- (((( ))))y
x

x
x==== ∈∈∈∈ ∞∞∞∞log

,0  

103º- y e xx==== −−−−( )2                                113º- (((( ))))y
x

x
x==== ∈∈∈∈ ∞∞∞∞ln

,0  

104º- f (x) = (x – 1) ex                                   114º- y
x
x

====
++++

log
2

2 1
 

105º- y e ex x==== −−−− −−−−
                                           115º- )214(ln 2 +−−= xxy  

106º- y xe x= −
                                                 116º- f x

x
x

( ) ln= +
+

1
2

 

107º- y x e x= −2 2

.  

108º- y
e x====

++++
++++−−−−

1
1

1  

109º- y
e a bx====

++++ −−−− ++++
1

1 ( )    con a, b>0 

110º y a bx x==== ++++   en cuatro casos, según a ó b sean mayor o menor que 1.        
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111º–   xseny 2=   121º–   xtgy 2=  

112º–   x
xSeny

2
=   122º– y = sen x  +  cos x     

113º- y = sen 3x   

114º- xseny 2=  

115º-
y

x
x

==== sen

     


